Paper-Maker Paper Maker 10
Directions (1-5): fifaf@a seer’ A tawrq@s afRv 3t AT R 7w oot &
W ST

$S Sedl Pl Teh oh FU Teh & HA H @I 9T §. Sedl R, ol M & b I E,
Sedl M ST dATel T &7 §. AL oo 3R Sed T o ALY hadl ol 366 6. Tl 3eall,
Sed Th 3 §. 3ed P 3N o8 S & HEY shdo U Sedl ¢. Seal S ST T &7 &
3R 39 3e9 R& IW IW@T IAT §. T 3o 3R g 5o & ALT oflel 5 §. &Y 5o
Pl Sod T oh oid TW@T IRT . 3o R 3R T Sed & ALY shdol Teh Seal I@T 31T g.
Sed P 3R Tl S & FeT IR F 310 Sod IW AT §. Isd M 3R 3sa S & HET
ar ¥ 3% sea &7 W T §.

QL SqEEdT # Fr foraat sed g7
(a) q&

(b) ¥TTRE

(c) dleE

(d) IRE

(e) 3R @ HIg =Far
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QTagsbox based puzzle

Q2.3ea R 3 Se& T & AT fhdat Sea 87
(a) 9

(b) T

(c) IR

(d)ar

()38 & IS gl
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QTagsbox based puzzle

Q3. AAfaf@d & @ FIT-A1 Sear A o4 F SF FW T

(@s
(b)R

() SITeAT SeaT
(dM



(e) 8T SeaT
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QTagsbox based puzzle

Q4. FIT-¥ zoa wA: MY W 3R g ww @ 7T
(@T,S

(b)R, STAT SaaT

(c) P, 8T Sedl

(d)T, M

(e) ATelr 3eaT, R
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QTagsbox based puzzle

Q5. el e 3 &Y zo¥ & Aew fraer zed A2
(a) cF

(b) 36

(c)ard

(d)oeg

(e) T & IS ET
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QTagsbox based puzzle

Solution (1-5):

Sol.

Boxes Colours
> 2

S Purple
R | e

M Blue
----- Orange
T ———-
----- Green
S1. Ans.(b)

S2. Ans.(c)

S3. Ans.(d)



S4. Ans.(c)
S5. Ans.(c)

Directions (6-10): I T 1T A+ weat # F& Fyal & ¢ Fo faswd Ru v
g1 g RT 7T FY«l F FeT AT g HF @ F FHTT: AT aedt § B
yela @ g1 wsft fosast &1 eueqds sreawe AR ik @EeTa: 9 gzt f
39&T FA gC v W F R v Fyat @ Fla @ fewd afds w1 @ Ro o
FYAT HT HTHIOT FIT ¢

Q6. FYA: TS T3 FAH ¢
hael G & Folld Tse ¢
Tl Tg5e 6 ¢l

forse:

L @l Fgde Tl £

Il H @ HH S g FolId ¢

. $& g% & TIT gl I FTaaT g1

(a) Shdel 1 3TEROT FAT &

(b) el 11 37TEOT T &

(c) harel 111 TTEROT T &
(d) 11 3R 111 37607 T &

(e) 3WIeFd H & FIg Aer
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QTagsSyllogism

Q7. Fy=T: Tt Hawr Frdr &)
dhael F& Hidl IoF F
$G IoH TS g
farsay:
1. $ ToUe T g g
1. @efr | Hawr gl
111, T3 FraT & IoF gl I FFATEAT .
(a) Shael 1 3TEROT T §
(b) 1 3 11 31TEROT Tl &
(c) 1 3R 111 3TEROT &Il &




(d) Sharel 111 3{TEROT YT &

(e) IS HTEROT AET HcT &
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QTagsSyllogism

Q8. Fy=l: Tl 3T N &l
Fo M Ao §
HIg Feell o 6T &
s
L. %A ¥ %7 $& 5o AR B
Il. $& Yool IS Bl HT HHGT g
1. #1% o MeT 78T B
(a) Shdel 1 3TEROT FAT &
(b) el 11 3TEROT FIT &

(c) hael 111 T80T T &
(d) 13 111 3{TEROT T &

(e) 351 & IS aeT
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QTagsSyllogism

Q9. FYA: Tl AT P ¢l
$T HeRT O gl
I ANTSel SHS 6T ¢
forsay:
I S AT feew 7& 2
II. $& WFR A gl
I1I. T SAST & HAU glol ol THGT gl
(a) I 3R 11 3{eTEROT I &
(b) haeT 111 31TEROT T §
(c) 1 3R 111 37TEROT &
(d) Gl 3%TEROT & &
(&) 5 & FE 7l
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QTagsSyllogism




Q10. Fu=T: Hf =T U §
$ad FT qY 6N 7
Tl ST g gl
sy
1. % HIT qe=A gl
1L FS HIBT & AT gl HT FearaeT g
1L g 910 & gy glet T FHTET Bl
(a) | AR 11 38R0 & &
(b) 1 31 111 3{T&ROT X &
(c) 11 3R 111 37EROT T 8
(d) Gefr 37eTEROT A
(e) 3R @ HIg =Far
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Solution (6-10):
S6. Ans.(d)
Sol.

Sol.

S9. Ans.(b)
Sol.



S10. Ans.(c)
Sol.

Directions (11-13): 318 & Yd% oA fArfaf@d saarY uv 3maiRa &
() A% B &I 37T A BF aiRas & g

(A@BH 3T ABF @ HE

(i) ASBHT T A B HF 3R AE.

(iv) A*B@T 31T A, B. & gfgior & &

Q11.IfE U9 ‘Q@P$S*RATE, QF WeesT &, RIFT Ramr A & 2
(a) 3R-IIRTH

(b) gf&yoT

(c) aigrur-ufegs

(d)aTRT €7 fohar ST Fhar

(&) 3o ¥ FE a7
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Q12. Awfaf@d & & Fia a1 sua+ gufar & @&, O, N & f@or-aReas & 22
(@QN%O@M

(b)O@M$N

()M %N *0

(AM*N@O

(€) 3T & 15 el

L1Difficulty 2

QTagsReasoning



Q13.9f¢ susi® ‘C$D @GS H T §, df C& deest &, H vy fgam 7 2
(a) &igToT- qiRaH

(b) 3TR-ufeaH

(c) afator- qd

(d) 3R- q&

()@
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Solution (11-13):

S11. Ans.(d)
Sol.
IR/
I
1
p Q
R/
S
S12. Ans.(e)
Sol.
S13. Ans.(a)
Sol.
C
G D
H

Q14. 93®! A T UfFad, IAT g0 BN | U 3N Ia¢ 90 B § 64 FAT W
g1 I 57 ufFd & g9 a0 IR F IREd T W, A A0 IR { AT F >
ieT-aT 82

(@9

(b) 10

()11

(d) 12



(e) None of these
L1Difficulty 2
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Q15. gXAT=AT 37 fagfdat i ufda & o sk ¥ 19F Fy= W ¢ ik & A
fFd & q¢ B8R & 16 § TIE W 1 9fFa # 39 Avy Faa Rt &2
(@)1

(b) 3

(©)5

(d) 4

(e)2
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QTagsReasoning

S14. Ans(b)

Solution:

Clearly, Aman is 10th from the right end and

Babloo is 8th from the left end and 12th from the right end of the row
So, number of boys in the row = (8-1 +12) =19

Now, Aman is 10th from the right

Aman from left end= 19- (10-1)

Hence, Aman is 10th from the left end of the row.

S15. Ans(e)
Harmaini position from right end =(37+1-19)=19
Students between them=(19-16-1)=2



